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I. Translate the given words into English.
1. BenmuunHa 6. Maca
2. npo6 7. pinuHa
3. cTyniHb 8. omip
4. noB)X1HA 9. mpoBITHICTH
5. oIUHULA 10. TOTY>KHICTh

I1. Translate the text into Ukrainian.

The ampere is that constant current which, if maintained in two straight parallel
conductors of infinite length, of negligible circular cross-section, and placed 1 metre
apart in vacuum, would produce between these conductors a force equal to 2x10—7
newton per metre of length. The original "International Ampere" was defined
electrochemically as the current required to deposit 1.118 milligrams of silver per second
from a solution of silver nitrate. Compared to the SI ampere, the difference is 0.015%.

I11. Give definitions for the following terms.
Metric system, coherent system, Kibble balance

IV. Translate the following sentences into English.

1. Pa3oM 3 OCHOBHMMH 1 IOXITHUMHU OJUHUIIIMU B METPHYHIN CUCTEMi BUKOPUCTOBYIOTh
cTaHmapTHUN HaOip mpedikciB JUIsl yTBOPEHHS KpaTHUX 1 YACTHHHUX OJWHHIL. 2.
Mixnapogaa cuctema oauHuIb (SI) pekoMeHaye BUKOPUCTaHHS CTaHIapTHHUX
necsaTkoBuX TmpedikciB SI s yTBOpEeHHS Ha3B 1 MO3HAYEHb KPAaTHUX 1 YACTHHHUX
OJTUHHIIb.

V. GRAMMAR ‘INFINITIVE. GERUND’. Put the verbs in brackets into the correct
infinitive or the -ing form.

1. At dinner she annoyed me by (laugh).
2. He made us (do) the same things.
3. She apologized for (be) late.
4-5. A: How about (go) to the shops this afternoon?
B: Great! | need (buy) a new dress for the party.
6-7. A: Dan can’t stand (drive) to work every morning.
B: Then he should consider (take) the train.

MOAYJBHA KOHTPOJIBHA POBOTA Ne4
«AHaJorosi Ta nudpoBi npuIaIN»

Variant 1



